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(1) Joel Friedman

(2) There are many ways to do this...

Here's one :
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Hence we can list the elements of
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by their rank ,
listing them
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st each element of 11* is found

Somewhere on the list . Hence this

gives a surjection

11 -> 11* (namely in (i).

Hence 115
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.



(3) for example :

at LangReBy Duch (duch 1)

Hence

duck/ta = Spri) p is a

Valid Duck program St
. paccepts in

= ACCEPTANCE
Duck :

By contrast :

a LangRec BYDrck (duch2)

Hence

duck 2 to a ACCEPTANCE



(b) The set of languages recognizable

by Duck programs is the set of

languages of the form

[ v[k5km

St . me <70 40 ,
1
,
2
,
3.... 3

and each kit 0-

However duck/da and duck2 a

are both of length 7 ,
one lying

in ACCEPTANCE
Duchy the other

No . Hence ACCEPTANCE
Duch is

not Duck-recognizable .


